
6.1.32 3362ts20 khurlurqplrl (thurlurqpfrfr rlurlhruur), 1 0r-Iq qZ rlhqurhuru 7,96 9552 1200
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6.2.7 33621450 uilprlfrqirh (urilln4frqlrhfr phqlrpln) 5riq qZ 4hrlurhunn 9 13s00 1500
6.2.7 3362t720 rf unqpnpfr fr nulurpunn 5rlq q2

4hrlurhutn 10,99 26376 2400
6.2.9 33631210 uruGPurqnu luEq, l5q qZ PUNLD 924 9240 1 0
5 .2 .17 33621620 qfpnhnprlurnh 25rlq qZ 4hrlurhrur-n 35500 1000
o . l . I 5 33621 1 10 r{upSup}rh trtuurp}rntil 3rlq q2

lbqurhurLn 30,68 2t476 700
6.2.16 33631310r1[\1n$hhru\ hrurnpfnrrl 50 riq qZ 4hqruhuu 1 3 39000 3000
6.2.r8 33621690 llurptlh4|r16.25 rlq q2 qtqr-uhurLn 26 156000 6000
6 .2 .79 33621690 \tuprlhr1fr125 rlq qZ 4hrpuhruur 35 98000 2800
6.2.23 33621761 urghur]rluurfrgfriurppnt 75 rlq N30/ qZ rltrlurhu,rLn 1 1 264000 24000
5.2.2( 33642230 thnplrpopufrh (lrnpf popufrh truurpfrnril) I 00 ilq qZ
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rlbqurhuu.n 74 8400 600
6.2.29 33661 133 Qurpplr4nqur, lhn4nqur 25rfq+250rlq

4hrlurhurm 96 s28000 s500
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6.2.42 33621700 Ihurnqpnlnfr uruprnpunn 1 00rlq qZ 11h11r-uh tuur 30,89 278010 9000
6.2.44 33621520 Lurlurqpfrl (thurlurqpfrftr rlurlhuln) 1 0 rlq qZ 4hrlurl-ruru-r \ 7 8550 1500
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6.2.65 33631230qn{f4ntr 1nq /qnrlfr4nh lnq, 100/o 100rI1 qZ lnrbnrlp 1056 42240 40
6.2.67 336312603n4 5olo 30 rf1 qZ

LnLdnLJld 227,76 44352 200
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